RED 00'(#
R <
<

CROSSBAR ROOF RACK

(2009-2014 F-150)

INSTALLATION INSTRUCTIONS

CONTENTS

2) Cross Bars

Cross Bar Mounts

‘L’ Brackets

Bed Rail Nut Plates
M10x1.50 x 30mm Allen Bolts
M10 Lock Washers

M10 Flat Washers

M8x1.25 x 15mm Hex Bolts
M8 Lock Washers

M8 Flat Washers

M8 Nuts

Phillips Head Screws

AN

e e e M M M M o M N S S

4
4

NI Y™

4

TOOLS REQUIRED

Phillips Screwdriver
14mm Wrench
6mm Allen Key

SKU # T565680



’
REDROCK:
z

STEP1

Secure the crossbar to the crossbar mounting bracket using (1) Phillips head screw.

Repeat this procedure for the remaining crossbar mounting brackets.

STEP 2

=N

Secure the ‘L’ bracket to the crossbar mounting bracket using (2) M8x1.25 x 15mm hex bolts, (2) M8
lock washers, (2) M8 flat washers, and (2) M8 nuts.

Repeat this procedure for the remaining ‘L’ brackets. Do not fully tighten hardware to allow for
adjustments later.



’
REDROCK =
z

STEP 3

Place the crossbar assembly across the vehicle bed rails. Place (1) bed rail nut plate behind the ‘L’
bracket, then secure the crossbar assembly to the vehicle using (2) M10x1.50 x 30mm Allen bolts,
(2) M10 lock washers, and (2) M10 flat washers.

Repeat this procedure for the remaining bed rail nut plates.

'ay /* ' =

STEP 4

Tighten all hardware once the crossbars are in a suitable mounting location. Adjust the (2) Allen
bolts per crossbar mounting bracket as necessary per application.

Installation is now complete.



	T565680 - RedRock 4x4 - Crossbar Roof Rack (09-14 F150)-01
	T565680 - RedRock 4x4 - Crossbar Roof Rack (09-14 F150)-02
	T565680 - RedRock 4x4 - Crossbar Roof Rack (09-14 F150)-03

